
SAP ABAP table /MRSS/C_SGE_PR {Scheduling Engine Profile}

_MRSS_C_SGE_PR

CLIENT [CLNT (3)]

PROFILE [CHAR (10)]

TMZ [CHAR (6)]

CHECK_PROFILE [CHAR (10)]

ALERT_PROFILE [CHAR (10)]

WL_PROFILE [CHAR (10)]

UI_PROFILE [CHAR (10)]

PRESEL_ID [CHAR (3)]

GEO_PROFILE [CHAR (10)]

OPT_PROFILE [CHAR (10)]

MAP_PROFILE [CHAR (10)]

OPT_SCENARIO [CHAR (10)]

WEBUI_PROFILE [CHAR (10)]

PARTS_CHECK_PROF [CHAR (10)]

RAL_PROFILE [CHAR (10)]

_MRSS_C_AL_PROF

CLIENT [CLNT (3)]

ALERT_PROFILE [CHAR (10)]

 /MRSS/C_SGE_PR-ALERT_PROFILE = /MRSS/C_AL_PROF-ALERT_PROFILE 

0..N

0..N

_MRSS_C_CHECK_P

CLIENT [CLNT (3)]

CHECK_PROFILE [CHAR (10)]

 /MRSS/C_SGE_PR-CHECK_PROFILE = /MRSS/C_CHECK_P-CHECK_PROFILE 

0..N

0..N

_MRSS_C_GEO_MAP

CLIENT [CLNT (3)]

MAP_PROFILE [CHAR (10)]

 /MRSS/C_SGE_PR-MAP_PROFILE = /MRSS/C_GEO_MAP-MAP_PROFILE 

0..N

0..N

_MRSS_C_GEO_SYS

CLIENT [CLNT (3)]

GEO_PROFILE [CHAR (10)]

 /MRSS/C_SGE_PR-GEO_PROFILE = /MRSS/C_GEO_SYS-GEO_PROFILE 

0..N

0..N

_MRSS_C_MAT_CHK

CLIENT [CLNT (3)]

PARTS_CHECK_PROF [CHAR (10)]

 /MRSS/C_SGE_PR-PARTS_CHECK_PROF = /MRSS/C_MAT_CHK-PARTS_CHECK_PROF 
0..N

0..N

_MRSS_C_OPT_SCE

CLIENT [CLNT (3)]

SCENARIO_KEY [CHAR (10)]
 /MRSS/C_SGE_PR-OPT_SCENARIO = /MRSS/C_OPT_SCE-SCENARIO_KEY 

0..N

0..N _MRSS_C_OPT_SYS

CLIENT [CLNT (3)]

PROFILE_KEY [CHAR (10)]

 /MRSS/C_SGE_PR-OPT_PROFILE = /MRSS/C_OPT_SYS-PROFILE_KEY 
0..N0..N

_MRSS_C_RAL_DSEL

CLIENT [CLNT (3)]

RAL_PROFILE [CHAR (10)]

 /MRSS/C_SGE_PR-RAL_PROFILE = /MRSS/C_RAL_DSEL-RAL_PROFILE 

0..N

0..N

_MRSS_C_SGU_PRO

MANDT [CLNT (3)]

ID [CHAR (10)]

 /MRSS/C_SGE_PR-UI_PROFILE = /MRSS/C_SGU_PRO-ID 

0..N

0..N

_MRSS_C_SGX_WPRO

MANDT [CLNT (3)]

WEB_UI_PROFILE [CHAR (10)]

 /MRSS/C_SGE_PR-WEBUI_PROFILE = /MRSS/C_SGX_WPRO-WEB_UI_PROFILE 

0..N

0..N

_MRSS_C_SQE_PSEL

MANDT [CLNT (3)]

PRESEL_ID [CHAR (3)]

 /MRSS/C_SGE_PR-PRESEL_ID = /MRSS/C_SQE_PSEL-PRESEL_ID 

0..N

0..N

_MRSS_C_WL_PR

CLIENT [CLNT (3)]

PROFILE [CHAR (10)]

 /MRSS/C_SGE_PR-WL_PROFILE = /MRSS/C_WL_PR-PROFILE 

0..N

0..N

TTZZ

CLIENT [CLNT (3)]

TZONE [CHAR (6)]

 /MRSS/C_SGE_PR-TMZ = TTZZ-TZONE 

0..N

0..N


